3. THIRELET
4 TEHI®ET
5 & & :

6 MEWMLEL



1. BELER

LRI LAL2 LARJL3 LAJLA LAILS LARJLB oy ELJES | ZERE -
IZERXRS IfE =5 1 & BEER U | mEtuE | meyE | SetyE | BEnE
LET
RiRIET
WEEEIOEE IX)
BrEISEM RY)I—E AR m3 0.04 0.04
avy)—kEoyY m2 1.0 1.0
ToAX—&H IRFRER m2 1.0 1.0
FEERT
T b m2 618.8 618.0
E3MER BATHR m2 618.8 618.0
TET
TEHIZREWET
THhL VO i 2% m2 59.8 59.0
EERMER BRFR m2 59.8 59.0
TEIMET
FrEEETIEAFTETE
BrEISE M R)I—E AR m3 0.06 0.06
avhy—hkEoY m2 0.6 0.6
TSAX—&H TOVIHEEER m2 0.6 0.6
BhEER—X b m2 0.6 0.6
B m2 0.6 0.6
EEEIEELR)
BrEIEEM R)I—EAVRR m3 0.04 |ERIR#HIEIOHEICSHTE L
avy)—hkEoyY m2 0.8 |[RIRIEIDOHEICEH TR L
TSA<—%&H IRF ISR m2 08 |RIRFBIEIOHEIZEHTE L
WIS 1E T OWRAT(+ T3K)
BRI IEEM RYR—E AR m3 0.83 0.83
avy)—krE2Y m2 16.5 16.5
TSAX—&H TO)ILEEER m2 16.5 16.5
BhEER—X b m2 16.5 16.5
REET
Bi5T
fRis FhEET . o —hRY+IRIERGEE m2 4459 440.0
[l PHEET : o —bFeRY+IRIRRGE m2 4459 4400
hEE B 15 m2 1039.4 [ 1030.0




1. BELER

LAJLT LRJL2 LAL3 LRIL4 LAILE LALG . ELJES | ZERE -
IERS IiE Gl Haz R BEESR REtHE | BENE | KETHE | BEHE
REEET
REFEERE B A 84.0 84.0
MET
POEWRALIET
— ‘EHIVY)—b m3 1.0 1.0
-5 t 24 20




2. KipfifeT
(1) HLERIER

T fE B X A ¥ & i
Wri (&= A m3 0.04 R)<w—t AR
Wi iE1E T Ny
e T ) a7 —MNID0[ m2 1.0
PRARARIE L 7IA~—iHi | m2 L0 AR
\ AL m2 618.8
FHiER L —
IR B A m2 618.8 EASTFR




(2) BEFHE

LR A& T

LW e T (AT L)

IRRAfE T X0

1) Wit (R ~—tE A FR)
T b B &
@ 0.800 X 0.330 X 0.050 0.013 m3
WM @ 0.150 X 0.100 X 0.050 0.0008 m3
FIEEM G 0.01 m3
- @ 0.800 X 0.500 X 0.050 0.020 m3
= @ 0.100 X 0.100 X 0.050 0.0005 m3
?2; o ® 0.100 X 0.100 X 0.050 0.0005 m3
@ 0.100 X 0.100 X 0.050 0.0005 m3
® 0.440 X 0.550 X 0.050 0.012 m3
RT3 0.03 m3
(120, F3IRM] &8 0.04 m3

2) 27 —NIOY, T ~— A
T b ¥ =
@ 0.800 X 0.330 0.26 m2
B @ 0.150 X< 0.100 0.02 m2
HIRM 0.3 m2
- @ 0.800 X 0.500 0.40 m2
= @ 0.100 X 0.100 0.01 m2
Lo |® 0100 x 0.100 0.01 m2
i (SR @ 0.100 X 0.100 0.01 m2
® 0.440 X 0.550 0.24 m2
IR F 0.7 m2
[R5, FIRM] 65 1.0 m2




2. K MmN IR T

PRI E X X0
1) N HUALER | SR b AR
DR ¥ &
@ ( 0600 + 1.200 )X 0.550
/2 0.495 m2
0.900 X 4.260 X 2 7.668 m2
(0900 + 0.870 )X 0.300
/2 )X 2 0.531 m2
0.870 X 3.900 X 2 6.786 m2
(0870 + 0.845 )X 0.250
/2 )X 2 0.429 m2
0.845 X 12.500 = 10.563 m2
2.600 X 4.260 X 2 22.152 m2
( 2.600 + 2.540 )X 0.300
730N /2 )X 2 1.542 m2
2.540 X 3.900 X 2 19.812 m2
(2540 + 2.490 )X 0.250
/2 )X 2 1.258 m2
SRR 2.490 X 12.500 = 31.125 m2
2P © 0.900 X 4.260 X 2 7.668 m2
(0900 + 0.870 )X 0.300
/2 )X 2 0.531 m2
0.870 X 3.900 X 2 6.786 m2
(0870 + 0.845 )X 0.250
/2 )X 2 0.429 m2
0.845 X 12.500 = 10.563 m2
©® ( 0320 + 0.400 )X 30.280 21.802 m2
( 0.600 + 1.200 )X 0.550
/2 = 0.495 m2
Hh7E 0.560 x( 0.890 + 0.626
+ 0.600 + 0.626 + 28.190 ) = 17.322 m2
® ( 0.320 + 0.400 + 0560 )
X 30.280 = 38.758 m2
1BE/ Gy 7 = 206.7 m2
206.7m2 X 2 £ 2[5y AR = 413.4 m2




POk W B
@ 0.900 X 4.260 x 2 7.668 m2

(( 0.900 + 0.870 )x 0.300
/2 )X 2 0.531 m2
0.870 X 3.900 X 2 6.786 m2

( 0.870 + 0.845 )X 0.250
/2 )X 2 0.429 m2
0.845 X 12.500 10.563 m2
2.600 X 4.260 X 2 22.152 m2

( 2.600 + 2.540 )x 0.300
/2 )X 2 1.542 m2
FRhi 2.540 X 3.900 X 2 19.812 m2

(2540  + 2.490 )X 0.250
o /2 )X 2 1.258 m2
2.490 X 12.500 31.125 m2
© 0.900 x 4.260 x 2 7.668 m2

(( 0.900 + 0.870 )X 0.300
/2 )X 2 0.531 m2
0.870 X 3.900 X 2 6.786 m2

( 0.870 + 0.845 )X 0.250
/2 )X 2 0.429 m2
0.845 X 12.500 10.563 m2

® ( 0.320 + 0.400 + 0.560 )
T X 30.280 38.758 m2
® ( 0.320 + 0.400 + 0.560 )
X 30.280 38.758 m2
FEORRE ARt 205.4 m2
A = 4134 + 205.4

[F1RE~F3EH] REREREERL &8 618.8 m2




3. TEHIXREUET

(1) HLELEFHE
T T& ) & X 5 BOAZ & 5 B
T H LB 2 59.8 VA —rL
TR T R AL T " At
GRM AR m2 59.8 B 1%




(2) HZEHE
1T TR E PR T (FHUQBR, 34 % A0)

R AL T XY
D) T HILER | &2 b1 A
REREA B o=
@ 0.860 X 5.020 - 0.460 X 0.720 X 2 =| 3.655 m2
AL 4 1.576 X 5.020 + 0.020 X 0.900 /
X 2 +( 0.020 + 0.244 )x 0.110 X 2 =| 7.988 m2
AlfEH B =| 11.6 m2
RERGA B =
@ 1.650 x 4.100 - 0.460 X 0.720 X 4 =| 5.440 m2
1.650 X 1.900 - 1.650 X 1.650 X 1/4
X @ =| 0.997 m2
© ( 0.800 + 1.304 ) X 1.650 =| 3.472 m2
® 0.800 X 4.100 + ( 4.100 + 1.900 ) X
PLGI 0700/ 2 —| 5.380 m2
P2 A
® ( 0.800 + 1.304 ) X 1.650 =| 3.472 m2
® 0.800 X 4.100 + ( 4.100 + 1.900 ) X
0.700 / 2 =| 5.380 m2
s 5 =| 24.1m2
24.1m2 X 21EM 2UE Sy AR =| 48.2m2
A = 116 + 482

[Alf&E, P1-P2IEM] THIXRELET A% = 59.8m2



4. THIFEBEL

(1) HERER

I f& W E X 4 HOfr B i B
W AR A m3 0.06 RY~—E AR
27 —NEHY| m2 0.6
WriE 18 T o 3
(’jﬁﬁ?}’ﬁiﬁI{f) 77/("\7‘—@%5 m2 0.6 7?U/I/$ﬁﬁl§;§
Bl ~=— Ak m2 0.6
pinp m2 0.6
. e Wrai &1 A, m3 0.04 RY<w—tAL R
MLWEL | i T
G T15) a7 —NMEI20| m2 0.8
TI(~—&Fi | m2 0.8 TRFUEHER
W &G AT m3 0.83 RY~—F AR
KA T | o5 poipgi| m2 16.5 FOUNHE S
B~ — AR m2 16.5




(2) HEHE

L LAffE L
LW ErE T (R el )
FELLAE L (Z01) kb

D) WriEE M (R ~—&ANR)

Ti% bk ¥ B
5 D 0.750 X 0.650 X 0.100 0.049 m3
§'§ ABEE| @ 0.300 X 0.350 X 0.100 0.011 m3
i}
T
® &# = 0.06 m3
2) a7V —NIDY, FIA~— A
Ti% b3k ¥ B
5 D 0.750 X 0.650 0.49 m2
o |aEa|@ 0300 x 0.350 0.11 m2
i}
T
% af#t = 0.6 m2
3) BhgE X — A, A
a7 —MIO0IZEL = 0.6 m2
2. WTHEIEE L (s L)
TEB T AE TIX LY
1) WriEEE M (R~ —E A R)
Tk Pk » #
0.350 X 0.300 X 0.050 0.005 m3
P1&) @ =
PIIEM 3 = 0.005 m3
e @ 0.150 X 0.400 X 0.050 = 0.003 m3
e @ 0.950 X 0.250 X 0.050 = 0.012 m3
L [P2AEMI| ® 1.300 X 0.250 X 0.050 = 0.016 m3
15 @ 0.150 X 0.200 X 0.050 = 0.002 m3
PG Ft = 0.03 m3
& = 0.04 m3
2) LI —NIOY, T~ — B
T <+ ik =1
0.350 X 0.300 0.11 m2
P1&) @ N
PG # = 0.1 m2
= @ 0.150 X 0.400 = 0.06 m2
oy @ 0.950 X 0.250 = 0.24 m2
L |P2iEMI| ® 1.300 X 0.250 = 0.33 m2
5 @ 0.150 % 0.200 - 0.03 m2
PG F = 0.7 m2
a8 = 0.8 m2




3.WrE EAE T (AT TiE)
THELAE LKLY
D) Wril G (R ~—E& A R)

Tk POk % &
@D 0.250 X 1.650 X 0.050 = 0.021 m3
@ ( 0950 x 1.500
+( 0.800 + 1.500 )x 1.100
/ 2 )X 0.050 0.135 m3
- @ 1.650 X 0.800 X 0.050 = 0.066 m3
@ 1.650 X 1.304 X 0.050 0.108 m3
® ( 0.800 + 1.500 )x 1.100
/ 2 + 1.250 X 1.500 )
e X 0.050 0.157 m3
g PIFGM 2t = 0.49 m3
T @ 0.200 X 1.650 X 0.050 = 0.017 m3
% @ 0.200 X 1.650 X 0.050 = 0.017 m3
® 1.650 X 0.800 X 0.050 0.066 m3
@ ( 0650 x 1.500
PG I +( 0.800 + 1.500 )X 1.100
/ 2 )X 0.050 0.112 m3
® 0.950 X 1.304 X 0.050 = 0.062 m3
® 1.650 x 0.800 X 0.050 = 0.066 m3
PRGN & = 0.34 m3
ait = 0.83 m3
2)ar 7V —NIDY, FTIA~—8Ai
T3k sk ¥ &
@ 0.250 X 1.650 = 0.41 m2
@ 0.950 X 1.500
+( 0.800 + 1.500 )X 1.100
/ 2 2.69 m2
PLFGII| ® 1.650 X 0.800 = 1.32 m2
@ 1.650 X 1.304 2.15 m2
® ( 0.800 + 1.500 )x 1.100
% / 2 + 1.250 X 1.500 3.14 m2
F PG = 9.7 m2
i @ 0.200 X 1.650 = 0.33 m2
L @ 0200 X 1.650 = 0.33 m2
i ® 1.650 X 0.800 1.32 m2
@ 0.650 X 1.500
PG +( 0.800 + 1.500 )X 1.100
/ 2 2.24 m2
® 0.950 X 1.304 = 1.24 m2
® 1.650 X 0.800 = 1.32 m2
PG Bt = 6.8 m2
aft = 16.5 m2
3) B~ — A1
M7 —MNIOVIZFT = 16.5 m2




5 REiHT

() BELFHF
T H ' X o HAL H &= i =
i m2 445.9 B T o — MR AR
BT Mg m2 445.9 Bl T — N
B RY m2 1039.4




(2) BEFHE

1. &% T

(55 128~ 55 32 ]
fil TEEREX (B EX) (£D1) Kb
DRV
B3 L. o —MEDHRRP
4.800 X 92.885

2) §E
Bh3 T o — NEV+HIRRS
X m R e RER

3) HEB Y
2.590 X 92.885

2.500 X 92.885 X 2

1.800 X 92.885 X 2

GE3 S Ferl

445.9 m2

445.9 m2

240.572 m2

464.425 m2

334.386 m2

1039.4 m2



6. HMEBEULET

(1) BLEEFHE
T f# 0o&E X 4 = <¥{va 0 = o
m3 1.0 7)) —h
X IE LR T SECIEEA « AL 5y
t 2.4




(2) BEFHE

1. BER AL T
1) FiE il - A5y
W 71—k
(575 128 R ~ 55 321 ]
IR & T
Wi ETE A L [FER = 0.04 m3

T LA T

[AIFES. P1-P2AE ]

Wi ETE A L [FER = 0.06 m3
Wi ETE A L [FER = 0.04 m3
Wi ETE A L [FER = 0.83 m3

A= 7 —h fEE = 1.0 m3
H
1.00m3 X  2.35 t/m3 = 2.4t



B T H # & H =%
TRBE 1.7
IERD [T =@ 7 Al i pill KB HBEESR 3 iE N -T4-8 B #|HABRYK | FET| =
BRERE
EET
RIRmST
WEEEIOLE IR
B EEE RYR—tE AV LR 0.04 m3 (0020 m3/B x 1 #8) 2.00 3.40
avy)—FkE2Y 1.0 m2 X Bl
T34 —%%H IRFHIER 1.0 m2 X Bl
REEERT
TH LR 618.8 m2 ( 85 m2/B x 1 #) 7.28 12.38
EEMER 618.8 m2 ( 145 m2/B x 1 #4) 4.21 1.26
13. 55 23.04
TEI
THRIREOMEL
THh LR HUA—=rLY 59.8 m2 ( 85 m2/B x 1 #f) 0.70 1.19
EEMER aRTR 59.8 m2 ( 145 m2/B x 1 #4) 0.4 0.70
1.1 1.89
THIAEBT
WEEHE T OR AT AT )
W EISEM RYR—t AU bR 0.06 m3 ( 1T m3/B x 1 #) 0.06 3.00 RRHBEH SHEETIA
avy)—FkE2Y 0.6 m2 ( 7 m2/B x 1 %) 0.09 0.15
TS54A v —%H T UIILEER 0.6 m2 ( 100 m2/B x 1 #8) 0.01 0.02
fHEEX—X b+ 0.6 m2 % |F5qv—smemesmET
kg 0.6 m2 X |BTEBEMICED
HEEEIOEE IR
BT EISEM RYR—tE AU bR 0.04 m3 (0020 m3/B x 1 #8) 2.00 3.40
avyy—FkE2Y 0.8 m2 ¥ [RIR e T
T4 —%%H IRFHER 0.8 m2 X |RERET
BT E S E T OM {1+ %)
BT EISEM RYR—tE AU bR 0.83 m3 ( 0.360 m3/BH x 1 #1) 2.31 3.93
avyy—FkE2Y 16.5 m2 ( 13 m2/B x 1 #) 1.27 2.16
TS54<—%% 7o) IEER 16.5 m2 ( 100 m2/B x 1 #) 0.17 0.29
hEER—R + 16.5 m2 X TS5 43— %4 ERBET
5.91 12. 95
REET
Bi5T
5 BHE€T : o — FERY +RARFHEE 445.9 m2 ( 52 m2/B x 1 4#) 8.58 14.59 BRBHISAIAE
REY— FEYBEIRE 445.9 m2 ( 714 m2/B x 1 #1) 0.62 1.05 "
RaR Y BHEE TR E 445.9 m2 ( 152 m2/B x 1 4#) 2.93 4.98 "
HEE FHEET : > — haRY +IRARAGEE 445.9 m2 ( 227 m2/B x 1 #8) 1.96 3.33 "
RaR Y BHEE TR E 445.9 m2 ( 2718 m2/B x 1 #8) 1.60 2.72 "
—rRYBEIRE 445.9 m2 (1,250 m2/B x 1 4) 0.36 0.61 "
PR RS 1,039. 4 m2 ( 217 m2/B x 1 #1) 4.79 8.14 Vi
20. 84 35.42




B T B & F 4H %

TRBE 1.7
IZERD [T =@ [ pill i pill KB BEESR 3 iE s EEEE A EEEIGET =
AT
IR T
w5 \HaLs)—F 1.0 m = ( 25 m3/B x 1 48) 0.04 0.07
# 2.4 t
0.04 0.07
AEEH 41.5 73.4




